
 +  ب س + جـ ( 2يل الحدودية الثلاثية ) أ س(  تحل4 -2بند ) 

 ً  السؤال الأول/ حلل تحليلاً تاما

 = 6س + 7+  2س 2 (1
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 =  5 –ص  3 – 2ص 2 (2

..........................................................................................................................

..........................................................................................................................

..........................................................................................................................

.......................................................................................................................... 

.......................................................................................................................... 

 

 

 


